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Einstein’s Law of the Photoelectric Effect is Quite Wrong AHMAD
REZA ESTAKHR, Researcher — According to Einstein’s explanation, emission of
electron is not possible for radiation of frequency less that thershold one. ke = E−w
According to my research it is, and correct law is schrodinger equation. ÊΨ = ĤeΨ
where the Ĥe is electron hamiltonian operator. −h̄2∇2Ψ

2me
+WΨ = ÊΨ which is correct

law of the photoelectric effect.

Ahmad Reza Estakhr
Researcher

Date submitted: 12 Jul 2013 Electronic form version 1.4


